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Anapramedt Ne1:  144.52¢m.m.
Anaprament Ne2:  B0.0Tkm.m.
Anaprament Ned:  130.49xB.m.

O




reynna 1A, +3.00

A 1

Anaprament N2d: B0 14kB.m.
AnaptamenT Ne5: B83.89xB.Mm.
Anaprament Ne6:  TE.41kB.m.
A

P T NeT: T3.91kB.m.
Anaprament Ne8:  128.95kp.m.
Anaprament N29:  83.20kB.m.



reynna 1A, +6.00
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Mapamerpii:

* rpymna 1A
« ypODe. + 6,00

Anaprament Ne10:  73.22xe.m.
Anaprament Ne11:  BE.42xm.m.
Anaprament Ne12:  TB.41ke.m.
Anaprament Ne13:  T3.77kB.m.
Anaprament Ne14:  130.13xe.m.
Anaprament N215:  74.93ke.m.




Ne16:  130.12kB.m.
Anaprament Nei17:  129.26kB.M.
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reynna 18, +0.00

AnapramenT Nei: 103.14k8.M.
AnapramenT Ne2: 135.11kB.Mm.
AnapramenTt Ned: 145.95k8.M.




reynna 1B, +3.00

)

AnapramenT Ne5: T7.69kB.M.
AnapTtamenT Neb: 90.70kB.M.
AnapTtameHT NeT: 85.08KB.M.
AnapramenT NeB: B85.08kB.M.
AnapTtamenT Ned: 94.18KB.M.
Anaprament Nel0: B7.20KB.M.
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MapameTphi:

« rpymna 18
« ypoues + 6.00

reynna 1B, +6.00

Anaprament Nel1:  77.72xe.m.
AnapramenT Ne12: T7.69x8.M.
Anaprament Ne13:  90.70xke.m.
AnaprameHt Nel4: 73.80x8.M.
AnapramenT Ne15: 73.80kB.M.
AnaprameHT Nel6: 90.15x8.M.
Anaprament Ne1T: B83.21kB.M.




: 125.0dk8.m.
122.53k8.m.

reynna 1B, +9.00




91.60x8.m
143.04k8.M.
88.83na.m

AnapramenT Ne3:

AnaprameHT Ne2:

Anapramedt Nei:

reynna 1V, +0.00



reynna 1V, +3.00

:, Anaprament Ned: 82.36K8.M.
AnapramenTt Ne5: 142.Tdxe. M.
- AnapramenT Ne6: B81.45K8.M.

AnapramenT NeT: 99.02k8.M.
AnapramedTt Neb: 95.92x8.M.
AnaprameHT Ned: 88.21KkB.M.
=2



reynna 1V, +6.00

Anaprament Ne10:
Anaprament Ne11:  143.98kB.m.
— AnaptamenT Nei2: 81.45k8.M.
Anaprament Ne13:  85.86x8.m.
AnaptamenT Nel4: 95.76KB.M.
AnapramenT Ne15: 80.6TKE.M.




reynna 1V, +9.00

Ne16:  142.77xB.M.
— Anap T Nel1T: 85.86x8.Mm.
Anaprament Ne18: 95.T6xkB.M.
A T Ne19: 80.67xa.M.




reynna 2A, +o.00

Anaprament Nei: 138.9%kB.m.

MezoneT Ne2: 150.38k8.M.
(ypoBens 1: 79.02 kB.M)
Mesoner Ned: 158.38K8.M.

(ypoeeHk 1: 82.51 kB.M)




reynna 24, +3.00

S |y

fiait

MesoneT NeZ: 150.38kB8.M.
(ypoBens 2: 71.36 kB.M)

MezoneT Ne3: 158.38kB.M.
(ypoBeHs 2: 75.87 kB.M)

Anaprament Ned: 80.84x8.M.
AnapTamenT Ne5: 162.72x8.M.
AnapramenT N26: 83.20k8.M.




reynna 2A, +6.00

;_-d@::-;:WHHMtuL....

Anaprament NeT: 74.30KB.M.
AnapramenT NeB: 132.68xB.M.
Anaprament Ned: 98.07KB.M.
AnapramenT N210: 79.37TkB.M.
Anaprament Neil: T8.44kB.M.
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reynna 2A, +9.00 NapameTphi:

* rpymaa 28
- ypone. + §.00

Anaprament Ne12:  137.61kB.m.
AnapramenTt Ne13:  135.56kB.M.




reynna 2B, +0.00

AnapramenT Net: 171.20K8.M.

Mesoner Ne2: 150.06x8.Mm.
{ypoBeHs 1: 78.86 kB.m)
Mesoner Ne3: 158.05k8.m.

(ypoBeHs 1: 82.34 kn.m)



reynna 2B, +3.00

NapameTpi:
* rpynna 18
. o

150.06k8.M.
(ypoeeHs 2: 71.20 ke.M)

Mesoner Ne3: 158.05k8.M.
(ypoeeHi 2: 75.71 ka.M)

Anaprament Ned: 80.6TkB.M.
AnapramenTt Ne5: 160.08ke.Mm.
Anaprament N26: 83.02x8.M.



reynna 2B, +6.00 '-'

74.15xm.m.
AnapramenTt NeB: 132.40x8.M.
AnapramenT Ned: 97.86KB.M.
Anapramedt Ne10: 79.20k8.M.
Anapramedt Neil: T8.28kB.M.




reynna 2B, s0.00 o g 7 ] ) = : A1 i . Napamerpu:
: N ¥ B o

Anaprament Ne12:  137.32xB.Mm.
AnapramenTt Ne13:  135.27TkB.m.
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